
MATH10282: INTRODUCTION TO STATISTICS

SEMESTER 2

SOLUTION TO QUIZ PROBLEM 2

Suppose X is a random variable with probability density function

f(x) =
1√
2πσx

exp

[
−(log x− µ)2

2σ2

]

for x > 0, −∞ < µ < +∞ and σ > 0. Then

E (X) =

∫ ∞
0

x
1√
2πσx

exp

[
−(log x− µ)2

2σ2

]
dx

=
1√
2πσ

∫ ∞
0

exp

[
−(log x− µ)2

2σ2

]
dx

=
1√
2πσ

∫ ∞
−∞

exp

[
−(y − µ)2

2σ2

]
exp(y)dy [Set y = log x]

=
1√
2πσ

∫ ∞
−∞

exp

[
y − (y − µ)2

2σ2

]
dy

=
1√
2πσ

∫ ∞
−∞

exp

[
−(y − µ)2 − 2σ2y

2σ2

]
dy

=
1√
2πσ

∫ ∞
−∞

exp

[
−y

2 + µ2 − 2µy − 2σ2y

2σ2

]
dy

=
1√
2πσ

∫ ∞
−∞

exp

[
−y

2 + µ2 − 2
(
µ+ σ2

)
y

2σ2

]
dy

=
1√
2πσ

∫ ∞
−∞

exp

[
−
[
y −

(
µ+ σ2

)]2
+ µ2 −

(
µ+ σ2

)2
2σ2

]
dy

= exp

[
−µ

2 −
(
µ+ σ2

)2
2σ2

]
1√
2πσ

∫ ∞
−∞

exp

[
−
[
y −

(
µ+ σ2

)]2
2σ2

]
dy

= exp

[
−µ

2 −
(
µ+ σ2

)2
2σ2

]

= exp

[
2µσ2 + σ4

2σ2

]

= exp

[
µ+

σ2

2

]
.
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